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Note: All questions are compulsory. Carrying of mobile phone during examinatio,

treated as case of unfair means.

Q1 Apply heap sort on the following array: <13, 15, 8, 0, 23, 5, 12,

of comparisons performed in the above question. Explain the complexits eapsort algorithm.
[3+1+1=5 Marks]

Q2 a) Solve the following recurrence: T(n) = 3T(n/3) + n/2 [2 Marks]

b) Prove: f(x) + g(x) = ® (max(f(x),g())) ) [3 Marks]

cBount in order of the times of the transaction, but

ements with checks listed in order by check number.

People usually write chécs ino by check number, and merchants usually cash them with

reasonable dispatch. The lem of converting time-of-transaction ordering is therefore the

MERGESORT on this problem. 2 Marks]

Jements in all input lists. (Hint: Use min-heap) [3 Marks]




